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Table S1 Chemical shifts ( and coupling constants J of 1 (D2O, pD 4.3, c = 2.4(10-2 M)

___________________________________________________________________________

H6 a
H5 a
CH3
H6' b
H5' b,c
H3', H4' c,d
H3",H5" e
H4" e


6.25
3.54
8.08
7.70
8.40/8.38
8.37
8.52

a 3JH5,H6 7.6 Hz,

b 3JH6',H5' 5.5 Hz,

c 3JH4',H5' 8.0 Hz,

d 3JH4',H3' 8.6 Hz, 

e 3JH4",H5"/H3" 8.3 Hz
___________________________________________________________________________

Table S2 Chemical shifts ( and coupling constants J of 2 (D2O, pD 6.2, c = 2.0(10-2 M)

___________________________________________________________________________

H6 a
H5 a
CH3
H6' b
H5' b,c
H3', H4' c,d
H3",H5" e
H4" e


6.37
3.49
8.07
7.49
8.08/8.19
8.11
8.42

a 3JH5,H6 7.5 Hz,

b 3JH6',H5' 5.1 Hz,

c 3JH4',H5' 8.0 Hz,

d 3JH4',H3' 8.0 Hz,

e 3JH4",H5"/H3" 8.1 Hz

___________________________________________________________________________

Table S3 Chemical shifts  of 3 in D2O (pD 4.8, c = 1.6(10-2 M) 

___________________________________________________________________________

H6 a
H5 a
CH3
H6' b
H5' b,c
H4',H3' c,d
H5",H3" e
H4" e


6.32
3.57
8.29
7.78
8.43
8.42
8.54

a 3JH5,H6 7.5 Hz,

b 3JH6',H5' 5.5 Hz,

c 3JH4',H5' 8.1 Hz,

d 3JH4',H3' 8.1 Hz,

e 3JH4",H5"/H3" 8.5 Hz

___________________________________________________________________________

Table S4 Chemical shifts  of 4 in D2O (pD 8.8, c = 1.7(10-2 M) 

___________________________________________________________________________

H6 a
H5 a
CH3
H6' bN3/N4
H5' b,c
H3', H4' c,d
H3",H5" e
H4" e


6.49
3.53
8.40/8.31
7.49
8.08/8.24
8.12
8.45

a 3JH5,H6 7.5 Hz,

b 3JH6',H5' 5.5 Hz,

c 3JH4',H5' 8.1 Hz,

d 3JH4',H3' 8.1 Hz, 

e 3JH4",H5"/H3" 8.5 Hz

___________________________________________________________________________

